What do | need to be abke

to do?

By the end of this unit you should be abk to:
Construct a sample space diagram

Find the probabilty from two-way tables
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Systematically st outcomes :
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Find the probabity from Venn diagrams |
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AEPRESENTATIONS, ..

Tables & Probability

Outcomes: the resutt of an event that depends on probabilty

Probabiity: the. chance that something wil happen

Set: a colection of objects

Charce: the lkelhood of a particular outcome.

Event: the outcome of a probability — a set of possible outcomes

Biased: a buitt in error that makes all vales wrong by a certain amount.

Union: Notation "U” medning the set made by comparing the elements of two sets
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calevlate just swimming by

Probabiity from Venn diaarams

This whole curve. includes

The event |: PfObabth
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100 students were questioned if they played badminton or wert to swimming club
40 went swimming, 25 wertt to badminton and [l went to both

This whole curve includes

everyone that went

SWimming \

Because 11 did both we

Swimming

40- 11

The intersection
represents both ™|

Badminton

46

everyone that went to
|~ badminton v
Because |1 dd both we P (Just SWlmmm@) = 29.
calulate just badminton
by 25- I 100

The number outside represents those

Swimming GND badminton

that dd neither badminton or swimming 100 — 29— 11— 14



